

## Any polynomial $D(4)$ -quadruple is regular

ALAN FILIPIN\* AND YASUTSUGU FUJITA†

**Abstract.** *In this paper we prove that if  $\{a, b, c, d\}$  is a set of four non-zero polynomials with integer coefficients, not all constant, such that the product of any two of its distinct elements increased by 4 is a square of a polynomial with integer coefficients, then  $(a + b - c - d)^2 = (ab + 4)(cd + 4)$ .*

**Key words:** *Diophantine  $m$ -tuples, polynomial Pellian equations*

**AMS subject classifications:** 11D09, 11C08

Received August 29, 2007

Accepted December 17, 2007

### 1. Introduction

Let  $n$  be an integer. A set of  $m$  positive integers is called a Diophantine  $m$ -tuple with the property  $D(n)$  or simply a  $D(n)$ - $m$ -tuple, if the product of any two of them increased by  $n$  is a perfect square. The first  $D(1)$ -quadruple, the set  $\{1, 3, 8, 120\}$ , was found by Fermat. The conjecture is that there does not exist a  $D(1)$ -quintuple. In 1969, Baker and Davenport [1] proved that the Fermat's set cannot be extended to a  $D(1)$ -quintuple. Recently, Dujella [3] proved that there does not exist a  $D(1)$ -sextuple and there are only finitely many  $D(1)$ -quintuples.

In the case  $n = 4$  the conjecture is that there does not exist a  $D(4)$ -quintuple. Actually there is a stronger version of the conjecture (see [8]).

**Conjecture 1.** *There does not exist a  $D(4)$ -quintuple. Moreover, if  $\{a, b, c, d\}$  is a  $D(4)$ -quadruple such that  $a < b < c < d$ , then*

$$d = a + b + c + \frac{1}{2}(abc + rst),$$

where  $r, s, t$  are positive integers defined by

$$ab + 4 = r^2, \quad ac + 4 = s^2, \quad bc + 4 = t^2.$$

---

\*Faculty of Civil Engineering, University of Zagreb, Fra Andrije Kačića-Miošića 26, HR-10 000 Zagreb, Croatia, e-mail: [filipin@grad.hr](mailto:filipin@grad.hr)

†Mathematical Institute, Tohoku University, Sendai 980-8578, Japan, e-mail: [fyasut@yahoo.co.jp](mailto:fyasut@yahoo.co.jp)

The first non-extendibility result for  $D(4)$ - $m$ -tuples was proven by Mohanty and Ramasamy in [16]. There they proved that the  $D(4)$ -quadruple  $\{1, 5, 12, 96\}$  cannot be extended to a  $D(4)$ -quintuple. Later Kedlaya [15] proved if  $\{1, 5, 12, d\}$  is a  $D(4)$ -quadruple, then  $d = 96$ .

There are various generalizations of this result. One was given by Dujella and Ramasamy in [8], where they proved Conjecture 1 for a parametric family of  $D(4)$ -quadruples. More precisely, they proved if  $k$  and  $d$  are positive integers and

$$\{F_{2k}, 5F_{2k}, 4F_{2k+2}, d\}$$

is a  $D(4)$ -quadruple, then  $d = 4L_{2k}F_{4k+2}$ , where  $F_k$  and  $L_k$  are the  $k$ -th Fibonacci and Lucas numbers, respectively. The second generalization was given by the second author in [12]. There he proved if  $k \geq 3$  is an integer and  $\{k-2, k+2, 4k, d\}$  is a  $D(4)$ -quadruple, then  $d = 4k^3 - 4k$ . All these results support Conjecture 1.

The first author has recently proved that there does not exist a  $D(4)$ -sextuple (see [10, 11]).

A polynomial variant of the above problems was first studied by Jones [13, 14], and it was for the case  $n = 1$ .

**Definition 1.** Let  $n$  be an integer. A set  $\{a_1, a_2, \dots, a_m\}$  of  $m$  non-zero polynomials with integer coefficients, which are not all constant, is called a polynomial  $D(n)$ - $m$ -tuple if for all  $1 \leq i < j \leq m$  the following holds:  $a_i \cdot a_j + n = b_{ij}^2$ , where  $b_{ij} \in \mathbb{Z}[x]$ .

Let us mention some results for general  $n$ . For some  $n$ , not every  $D(n)$ -triple is extensible to a quadruple. For example, for  $n = 2$ , there does not even exist a  $D(4)$ -quadruple (see [2]). And for some  $n$ , e.g.  $n = 16$ , the extension to a  $D(n)$ -quadruple is not unique (see [9]), although there the first author proved unique extensions of some polynomial  $D(16)$ -triples. Recently Dujella et al. [6] found an upper bound for the size of polynomial  $D(n)$ - $m$ -tuples. Precisely, they proved that for  $n \neq 0$ , there does not exist a polynomial  $D(n)$ -11-tuple. Dujella and Fuchs [4] also proved that there does not exist a polynomial  $D(-1)$ -quadruple, and the same authors [5] have proven a strong Diophantine quintuple conjecture for polynomials with integer coefficients. In this paper we prove the analogous result in the case  $n = 4$ .

**Definition 2.** A polynomial  $D(4)$ -quadruple  $\{a, b, c, d\}$  is called regular if

$$(a + b - c - d)^2 = (ab + 4)(cd + 4),$$

or equivalently if  $d = d_+$  or  $d = d_-$ , where

$$d_{\pm} = a + b + c + \frac{1}{2}(abc \pm rst)$$

and  $r, s, t \in \mathbb{Z}[x]$  are defined by

$$ab + 4 = r^2, ac + 4 = s^2, bc + 4 = t^2.$$

In this paper  $d_+$  and  $d_-$  will always have this meaning. If  $\{a, b, c\}$  is a polynomial  $D(4)$ -triple, it is easy to check that  $\{a, b, c, d_\pm\}$  is a polynomial  $D(4)$ -quadruple. Indeed, since

$$ad_\pm + 4 = \left(\frac{1}{2}(at \pm rs)\right)^2, \quad bd_\pm + 4 = \left(\frac{1}{2}(bs \pm rt)\right)^2, \quad cd_\pm + 4 = \left(\frac{1}{2}(cr \pm st)\right)^2,$$

it suffices to check that  $d_\pm \in \mathbb{Z}[x]$ . But from the fact that  $2\mathbb{Z}[x]$  is a prime ideal in  $\mathbb{Z}[x]$  and from  $(abc + rst)(abc - rst) \in 2\mathbb{Z}[x]$ , we conclude that  $(abc + rst)$  or  $(abc - rst)$  is in  $2\mathbb{Z}[x]$ . Since these are obviously equivalent, we see that  $d_\pm \in \mathbb{Z}[x]$ . The same argument can be used in several places to ensure that the terms of binary recurring sequences or both sides of congruences have integer coefficients.

We will write our main result in the form of a theorem.

**Theorem 1.** *All polynomial  $D(4)$ -quadruples are regular.*

In the proof of the theorem we use the strategy from the paper of Dujella and Fuchs [5] together with the results the first author has proved in [10, 11]. Because some of the proofs are exactly the same as in [5], we will not give all details. We first transform the problem into solving the system of simultaneous polynomial Pellian equations, which then reduces to finding the intersection of binary recurring sequences of polynomials. Assuming that we have an irregular  $D(4)$ -quadruple  $\{a, b, c, d\}$  with a minimal  $d$ , we will obtain a contradiction.

## 2. System of Pellian equations

Let  $\mathbb{Z}^+[x]$  denote the set of all polynomials with integer coefficients with positive leading coefficients. For  $a, b \in \mathbb{Z}^+[x]$ ,  $a < b$  means that  $b - a \in \mathbb{Z}^+[x]$ . It can be checked that usual fundamental properties of the inequality hold for this order. For  $a \in \mathbb{Z}^+[x]$ , we define  $|a| = a$  if  $a \geq 0$ , and  $|a| = -a$  if  $a < 0$ . It is clear that all leading coefficients of the polynomials in a  $D(4)$ - $m$ -tuple have the same sign. So without loss of generality we may assume that they are all positive, i.e. that all polynomials are in  $\mathbb{Z}^+[x]$ .

If  $\{a, b, c, d\}$  is a polynomial  $D(4)$ -quadruple such that  $a < b < c < d$ , then  $d$  is not a constant by definition. Assume now that  $a$  and  $b$  are constant polynomials. Considering leading coefficients of  $ad + 4$  and  $bd + 4$  we can conclude that  $ab$  is a square, which contradicts the assumption that  $ab + 4$  is also a perfect square. This proves that in a polynomial  $D(4)$ -quadruple we can have at most one constant polynomial.

Assume now that  $\{a, b, c, d\}$ , such that  $0 < a < b < c < d$ , is an irregular  $D(4)$ -quadruple with minimal  $d$  among all such quadruples. Under this assumption we will end up with a contradiction, which will finish the proof of our theorem.

Let us fix some notation at the beginning. Let  $r, s, t \in \mathbb{Z}^+[x]$  be defined by

$$ab + 4 = r^2, \quad ac + 4 = s^2, \quad bc + 4 = t^2.$$

Moreover, let

$$ad + 4 = x^2, \quad bd + 4 = y^2, \quad cd + 4 = z^2,$$

with  $x, y, z \in \mathbb{Z}^+[x]$ . Eliminating  $d$  we get the following system of simultaneous Pellian equations

$$az^2 - cx^2 = 4(a - c), \quad (1)$$

$$bz^2 - cy^2 = 4(b - c). \quad (2)$$

Let

$$\deg a = A, \deg b = B, \deg c = C.$$

The letters  $A, B, C$  will always have this meaning. We can now describe the sets of solutions of equations (1) and (2) in the following lemma.

**Lemma 1.** *There exist  $z_0, x_0, z_1, y_1 \in \mathbb{Z}[x]$ , with the following properties:*

(i)  $(z_0, x_0)$  and  $(z_1, y_1)$  are solutions of (1) and (2), respectively.

(ii) The following inequalities are satisfied:

$$\deg x_0 \leq \frac{A+C}{4} < \deg s, \deg z_0 \leq \frac{3C-A}{4} < C, \quad (3)$$

$$\deg y_1 \leq \frac{B+C}{4} < \deg t, \deg z_1 \leq \frac{3C-B}{4} < C, \quad (4)$$

and

$$x_0, |z_0|, y_1, |z_1| > 0.$$

(iii) If  $(z, x)$  and  $(z, y)$  are polynomial solutions of (1) and (2), with  $x, y, z \in \mathbb{Z}^+[x]$ , then there exist integers  $m, n \geq 0$  such that

$$z\sqrt{a} + x\sqrt{c} = (z_0\sqrt{a} + x_0\sqrt{c}) \left( \frac{s + \sqrt{ac}}{2} \right)^m, \quad (5)$$

$$z\sqrt{b} + y\sqrt{c} = (z_1\sqrt{b} + y_1\sqrt{c}) \left( \frac{t + \sqrt{bc}}{2} \right)^n, \quad (6)$$

where this means that coefficients of  $\sqrt{a}, \sqrt{b}$  and  $\sqrt{c}$  respectively on both sides are equal.

**Proof.** The statement can be proven in exactly the same way as [7, Lemma 4] or directly as in [4, 8].  $\square$

From (5) we get  $z = v_m$  for some integer  $m \geq 0$ , where

$$v_0 = z_0, v_1 = \frac{1}{2}(sz_0 + cx_0), v_{m+2} = sv_{m+1} - v_m, \quad (7)$$

for some solution  $(z_0, x_0)$  of (1) satisfying (3). From (6) we conclude that  $z = w_n$  for some integer  $n \geq 0$ , where

$$w_0 = z_1, w_1 = \frac{1}{2}(tz_1 + cy_1), v_{n+2} = tv_{n+1} - v_n, \quad (8)$$

for some solution  $(z_1, y_1)$  of (2) with (4).

We have now reduced our problem to solving equations of the form  $v_m = w_n$ . By induction we get information on the degrees of these sequences.

**Lemma 2.** *Let  $(v_m)$  and  $(w_n)$  be the sequences from the above. Then*

$$\deg v_m = \deg v_1 + (m-1)\frac{A+C}{2},$$

$$\deg w_n = \deg w_1 + (n-1)\frac{B+C}{2}.$$

### 3. Gap principle and congruence relations

We start with the same construction as in [5].

**Lemma 3.** *Let us define  $u, v, w$  such that*

$$ad_{\pm} + 4 = u^2, bd_{\pm} + 4 = v^2, cd_{\pm} + 4 = w^2,$$

where

$$u = \frac{1}{2}(at \pm rs), v = \frac{1}{2}(bs \pm rt), w = \frac{1}{2}(cr \pm st).$$

Then,

$$c = a + b + d_{\pm} + \frac{1}{2}(abd_{\pm} \mp ruv),$$

and

$$d_+ \cdot d_- = (c - a - b - 2r)(c - a - b + 2r).$$

Observation that if  $d_- \neq 0$ , then  $d_- \geq 1$ , implies the following lemma.

**Lemma 4.** *If  $\{a, b, c\}$  is a polynomial  $D(4)$ -triple such that  $a < b < c$ , then  $c = a + b + 2r$  or  $c \geq \frac{1}{2}abd_- + 1$  with  $d_- \neq 0$ .*

From this lemma we get useful gap principle:  $C \geq A + B$  or  $c = a + b + 2r$ .

For the sequences  $(v_m)$  and  $(w_n)$  we have

$$v_{2m} \equiv v_0 \pmod{c}, v_{2m+1} \equiv v_1 \pmod{c},$$

$$w_{2n} \equiv w_0 \pmod{c}, w_{2n+1} \equiv w_1 \pmod{c}.$$

The following lemma can be proven in the same way as [5, Lemma 5] and [10, Lemma 4].

**Lemma 5.**

- (i) *If the equation  $v_{2m} = w_{2n}$  has a solution, then  $z_0 = z_1$ .*
- (ii) *If the equation  $v_{2m+1} = w_{2n}$  has a solution, then  $z_0 \cdot z_1 < 0$  and  $|z_1| = \frac{1}{2}(cx_0 - s|z_0|)$ .*
- (iii) *If the equation  $v_{2m} = w_{2n+1}$  has a solution, then  $z_0 \cdot z_1 < 0$  and  $|z_0| = \frac{1}{2}(cy_1 - t|z_1|)$ .*
- (iv) *If the equation  $v_{2m+1} = w_{2n+1}$  has a solution, then  $z_0 \cdot z_1 > 0$  and  $cx_0 - s|z_0| = cy_1 - t|z_1|$ .*

Considering our sequences modulo  $c^2$  we have the following lemma.

**Lemma 6.**

$$\begin{aligned} v_{2m} &\equiv z_0 + \frac{1}{2}c(az_0m^2 + sx_0m) \pmod{c^2}, \\ 2v_{2m+1} &\equiv sz_0 + c\left(\frac{1}{2}asz_0m(m+1) + x_0(2m+1)\right) \pmod{c^2}, \\ w_{2n} &\equiv z_1 + \frac{1}{2}c(bz_1n^2 + ty_1n) \pmod{c^2}, \\ 2w_{2n+1} &\equiv tz_1 + c\left(\frac{1}{2}btz_1n(n+1) + y_1(2n+1)\right) \pmod{c^2}. \end{aligned}$$

**Proof.** We will give details only for  $v_{2m}$ . First we consider the case  $c \in 2\mathbb{Z}[x]$ . Notice  $v_m^2 \equiv z_0^2 \pmod{c}$ , for any  $m$ . Because we are interested only in the sequences that will give us the extension to a quadruple we must have  $z_0^2 \equiv 4 \pmod{c}$ . But this implies  $z_0^2 \in 2\mathbb{Z}[x]$ , i.e.  $z_0 \in 2\mathbb{Z}[x]$ . Also  $s \in 2\mathbb{Z}[x]$ . When  $z_0, s \in 2\mathbb{Z}[x]$ , we can easily prove congruence relation by induction. In this case we do not have any problem with polynomials that are not in  $\mathbb{Z}[x]$ .

On the other hand, if  $c \notin 2\mathbb{Z}[x]$ , we can prove by induction

$$2v_{2m} \equiv 2z_0 + c(az_0m^2 + sx_0m) \pmod{c^2}.$$

Moreover, it can be shown that  $az_0m^2 + sx_0m \in 2\mathbb{Z}[x]$ . If  $m$  is even, it is obviously true, and if  $m$  is odd, it follows from

$$(az_0 + sx_0)(az_0 - sx_0) = 4a(a - c) - 4x_0^2 \in 2\mathbb{Z}[x].$$

At the end, because  $c \notin 2\mathbb{Z}[x]$ , we can divide both sides of congruence by 2 and get the statement of the lemma.  $\square$

#### 4. Determination of initial terms

From the estimates of initial terms and congruence conditions modulo  $c$  we see that if the equation  $v_m = w_n$  has a solution, then there exists a solution with  $m = 0$  or  $m = 1$ . However, since such a small solution induces a polynomial  $D(4)$ -quadruple  $\{a, b, c, d_0\}$ , with  $d_0 < c$ , it follows from the minimality of  $d$  that  $d_0 = 0$  or  $d_0 = d_-$ , which gives us very precise determination of initial terms.

**Lemma 7.**

- (i) If the equation  $v_{2m} = w_{2n}$  has a solution, then  $z_0 = z_1$ . Moreover,  $|z_0| = 2$ , or  $|z_0| = \frac{1}{2}(cr - st)$ .
- (ii) If the equation  $v_{2m+1} = w_{2n}$  has a solution, then  $|z_0| = t$ ,  $|z_1| = \frac{1}{2}(cr - st)$ ,  $z_0z_1 < 0$ .
- (iii) If the equation  $v_{2m} = w_{2n+1}$  has a solution, then  $|z_1| = s$ ,  $|z_0| = \frac{1}{2}(cr - st)$ ,  $z_0z_1 < 0$ .
- (iv) If the equation  $v_{2m+1} = w_{2n+1}$  has a solution, then  $|z_0| = t$ ,  $|z_1| = s$ ,  $z_0z_1 > 0$ .

**Proof.** Since the proof is similar to [5, Lemma 7] and [10, Lemma 9], we will give only the proof of (i). From Lemma 5 we get  $z_0 = z_1$ . Define  $d_0 = \frac{z_0^2 - 4}{c}$ . Then  $d_0 \in \mathbb{Z}^+[x]$  and

$$cd_0 + 4 = z_0^2, \quad ad_0 + 4 = x_0^2, \quad bd_0 + 4 = y_1^2.$$

If  $d_0 = 0$ , we conclude  $|z_0| = 2$ . If  $d_0 \neq 0$ , then  $\{a, b, c, d_0\}$  is a polynomial  $D(4)$ -quadruple. From  $d_0 < c$  and minimality of  $d$  we get  $d_0 = d_-$  and  $|z_0| = \frac{1}{2}(cr - st)$ .  $\square$

Now we need some technical lemmas. For the first two we will omit the proofs, since they are exactly the same as the ones of Lemmas 8 and 9 in [5].

**Lemma 8.** *Assume that  $B < C$ . Then,*

$$\deg(cr - st) = C - \frac{A + B}{2}.$$

Moreover, if  $z_0 = \frac{1}{2}(cr - st)$ , then

$$\deg(cx_0 - sz_0) = \frac{B + C}{2},$$

and if  $z_1 = \frac{1}{2}(cr - st)$ , then

$$\deg(cy_1 - tz_1) = \frac{A + C}{2}.$$

**Lemma 9.** *Let  $e = \frac{1}{2}(rst - cr^2) + c$ . Then*

- (i)  $\deg e = C - A - B < C$ , if  $C > A + 2B$ ,
- (ii)  $\deg e \leq B = C - A - B < C$ , if  $C = A + 2B$ ,
- (iii)  $\deg e = B$ , if  $C < A + 2B$ .

**Lemma 10.** *Let  $\{a, b, c\}$  be a polynomial  $D(4)$ -triple such that  $a < b < c$  and  $B < C = A + 2B$ . Then*

$$\{a, b, d_-, c\} = \{a, b, a + b \pm 2r, r(r \pm a)(b \pm r)\}.$$

Moreover, in this case  $e = \mp 2r$ .

**Proof.** From

$$d_+ \cdot d_- = (c - a - b - 2r)(c - a - b + 2r),$$

we conclude  $C = \deg abd_-$ , which implies  $\deg d_- = B$ . Trivially  $d_- \neq 0, a, b$ . Since  $A \leq B = \deg d_-$  we can apply construction from Lemma 3 to the triple  $\{a, b, d_-\}$ . So we have  $c = e_+$  and

$$e_+ \cdot e_- = (d_- - a - b - 2r)(d_- - a - b + 2r).$$

From the exactly the same argument as the proof of Lemma 10 in [5], we see that  $e_- = 0$  and  $d_- = a + b \pm 2r$ . Now,

$$c = a + b + d_- + \frac{1}{2}(abd_- + ruv),$$

where  $u^2 = ad_- + 4$ ,  $v^2 = bd_- + 4$ . After some computation we get  $u = r \pm a$ ,  $v = b \pm r$  and  $c = ruv = r(r \pm a)(b \pm r)$ . This furthermore implies  $s = r^2 \pm ar - 2$  and  $t = br \pm (r^2 - 2)$ . If we define  $e = \frac{1}{2}(rst - cr^2) + c$ , direct computation shows that  $e = \mp 2r$ .  $\square$

## 5. Proof of the Theorem

We finish the proof of our theorem considering intersections of the recurring sequences obtained with the initial values described in Lemma 5. Because the proof uses the same strategy as in [5], we will not give all details.

*Case 1.1*)  $v_{2m} = w_{2n}$ ,  $z_0 = z_1 = \pm 2$ .

From (1), (2) and Lemma 1 we conclude  $x_0 = y_1 = 2$ . Therefore Lemma 2 gives us

$$\deg v_{2m} = C + (2m - 1)\frac{A + C}{2},$$

$$\deg w_{2n} = C + (2n - 1)\frac{B + C}{2},$$

if  $B < C$  or  $z_0 = 2$  and

$$\deg v_{2m} = C + (2m - 1)\frac{A + C}{2},$$

$$\deg w_{2n} = \frac{A + B}{2} + (2n - 1)\frac{B + C}{2},$$

if  $B = C$  and  $z_0 = -2$ . Now from Lemma 6 we get

$$\pm am^2 + sm \equiv \pm bn^2 + tn \pmod{c}. \quad (9)$$

We can assume that  $m, n \neq 0$ , because  $m = n = 0$  corresponds to  $d = 0$ , which contradicts the assumption. Consider three cases separately:

$$B < C, A < B = C, A = B = C.$$

Then, in exactly the same arguments as in the proof of the theorem in [5], we can arrive at a contradiction in each case (note that the case  $A < B = C$  leads to  $m = n = 1$ , which contradicts  $d \neq d_{\pm}$ ). This finishes the proof in Case 1.1.

In all other cases we may assume  $B < C$ . Otherwise  $B = C$  implies  $c = a + b + 2r$  and  $\frac{1}{2}(cr - st) = 2$ . The case  $z_0 = z_1 = \pm 2$  we have just solved, and in all other cases we get contradiction. If  $z_0 = \pm t$ , we get  $\deg t = \deg(b + r) = C > \deg z_0$ , a contradiction. If  $z_1 = \pm s$ , from  $z_1^2 = ac + 4$ , and Lemma 1 which gives us  $\deg z_1 \leq \frac{C}{2}$ , we conclude  $A = 0$ . We also have  $y_1 = r$ , and relation  $(t - 2)y_1^2 \leq b(c - b)$ . Since  $\deg((t - 2)r^2) = 2B$  and  $\deg b(c - b) = \deg(b(a + 2r)) = \frac{3B}{2}$ , we get a contradiction.



*Case 1.2*)  $v_{2m} = w_{2n}$ ,  $z_0 = z_1 = \pm \frac{1}{2}(cr - st)$ .

Let us first assume  $A = B$ . Then from Lemma 2 we get

$$\deg v_{2m} = \frac{3C - B}{2} + (2m - 1)\frac{A + C}{2}, \quad \deg w_{2n} = \frac{3C - B}{2} + (2n - 1)\frac{A + C}{2},$$

or

$$\deg v_{2m} = \frac{B + C}{2} + (2m - 1)\frac{A + C}{2}, \quad \deg w_{2n} = \frac{B + C}{2} + (2n - 1)\frac{A + C}{2},$$

where the first case is for  $z_0 = z_1 > 0$  and the second for  $z_0 = z_1 < 0$ . Comparing degrees in  $\deg v_{2m} = \deg w_{2n}$ , we get  $m = n$ . Since  $x_0 = \frac{1}{2}(rs - at)$ ,  $y_1 = \frac{1}{2}(rt - bs)$ , Lemma 6 implies

$$\mp astm(m \pm 1) + 4rm \equiv \mp bstn(n \pm 1) + 4rn \pmod{c}.$$

Multiplying this by  $st$  we have

$$\mp 16(am(m \pm 1) - bn(n \pm 1)) \equiv 4rst(n - m) \pmod{c},$$

which implies  $m(m \pm 1)(a - b) = 0$ . Since  $a \neq b$ , we obtain  $m = 0$  or  $m = 1$ , which contradicts  $d \neq 0, d_{\pm}$ .

Thus we may assume  $A < B < C$ . From Lemmas 1 and 8, we get  $C \leq 2A + B$ . From relation

$$d_+ \cdot d_- = (c - a - b - 2r)(c - a - b + 2r)$$

we conclude  $C = \deg abd_-$ , which yields  $\deg d_- \leq A$ . Now we have  $e = \frac{1}{2}(rst - cr^2) + c$ , which after some computation gives us  $d_- = a + b - e$ . It follows from  $\deg d_- \leq A < B = \deg e$ , that the leading coefficients of  $b$  and  $e$  are equal. Also our congruence becomes the equation

$$\pm 16(am(m \pm 1) - bn(n \pm 1)) = 8e(n - m),$$

and by comparing the leading coefficients we get

$$\pm 2n(n \pm 1) = n - m.$$

The rest of the proof in this case is exactly the same as in [5].

*Case 2*)  $v_{2m+1} = w_{2n}$ ,  $z_0 = \pm t$ ,  $z_1 = \pm \frac{1}{2}(st - cr)$ .

*Case 3*)  $v_{2m} = w_{2n+1}$ ,  $z_0 = \pm \frac{1}{2}(cr - st)$ ,  $z_1 = \mp s$ .

The proof in these two cases is exactly the same as in [5], with slightly different coefficients in congruences, using lemmas 8, 9 and 10.

*Case 4*)  $v_{2m+1} = w_{2n+1}$ ,  $z_0 = \pm t$ ,  $z_1 = \pm s$ .

In this case from Lemma 1 and equations (1) and (2) we get  $x_0 = y_1 = r$ . Then Lemma 6 implies

$$\pm astm(m + 1) + 2r(2m + 1) \equiv \pm bstn(n + 1) + 2r(2n + 1) \pmod{c}. \quad (10)$$

In this case by computing degrees we get

$$\deg v_{2m+1} = C \pm \frac{A + B}{2} + (A + C)m,$$

$$\deg w_{2n+1} = C \pm \frac{A+B}{2} + (B+C)n.$$

It implies  $(A+C)m = (B+C)n$ . If  $A = B$ , we conclude  $m = n$  and we have congruence

$$m(m+1)(a-b) \equiv 0 \pmod{c},$$

which contradicts  $d \neq 0$ . Hence  $A < B$ . If we compare the degree of  $z_0 = \pm t$  with the estimate from Lemma 1, we get  $C \geq A + 2B$ . Moreover, multiplying (10) by  $st$  yields

$$\pm 16(am(m+1) - bn(n+1)) \equiv 4rst(n-m) \pmod{c}. \quad (11)$$

Let  $e = \frac{1}{2}(rst - cr^2) + c$ . Then  $4rst \equiv 8e \pmod{c}$ . Since by Lemma 9 we know  $\deg e < C$ , (11) implies

$$\pm 16(am(m+1) - bn(n+1)) = 8e(n-m). \quad (12)$$

If  $C > A + 2B$ , Lemma 9 yields  $\deg e = C - A - B$ , and by comparing degrees in (12) we get  $C = A + 2B$ , a contradiction. If  $C = A + 2B$ , by Lemma 10 we conclude  $e = \mp 2r$  and  $\deg e = \frac{A+B}{2} < B$ , which contradicts (12). This finishes the proof of this case and of Theorem 1.

## Acknowledgements

The first author was supported by the Ministry of Science, Education and Sports, Republic of Croatia, grant 037-0372781-2821 and by the Austrian Science Foundation FWF, grant NFN S9611.

## References

- [1] A. BAKER, H. DAVENPORT, *The equations  $3x^2 - 2 = y^2$  and  $8x^2 - 7 = z^2$* , Quart. J. Math. Oxford Ser. **20**(1969), 129-137.
- [2] E. BROWN, *Sets in which  $xy + k$  is always a square*, Math. Comp. **45**(1985), 613-620.
- [3] A. DUJELLA, *There are only finitely many Diophantine quintuples*, J. Reine Angew. Math. **566**(2004), 183-214.
- [4] A. DUJELLA, C. FUCHS, *A polynomial variant of a problem of Diophantus and Euler*, Rocky Mount. J. Math. **33**(2003), 797-811.
- [5] A. DUJELLA, C. FUCHS, *Complete solution of the polynomial version of a problem of Diophantus*, J. Number Theory **106**(2004), 326-344.
- [6] A. DUJELLA, C. FUCHS, F. LUCA, *A polynomial variant of a problem of Diophantus for prime powers*, Int. J. Number Theory, to appear.
- [7] A. DUJELLA, F. LUCA, *On a problem of Diophantus with polynomials*, Rocky Mountain J. Math. **37**(2007), 131-157.

- [8] A. DUJELLA, A. M. S. RAMASAMY, *Fibonacci numbers and sets with the property  $D(4)$* , Bull. Belg. Math. Soc. Simon Stevin **12**(2005), 401-412.
- [9] S. FILIPIN, *Extensions of some parametric families of  $D(16)$ -triples*, Int. J. Math. Math. Sci., Volume 2007(2007), Article ID 63739, 12 pages.
- [10] A. FILIPIN, *On the size of sets in which  $xy + 4$  is always a square*, Rocky Mountain J. Math., to appear.
- [11] A. FILIPIN, *There does not exist a  $D(4)$ -sextuple*, J. Number Theory, to appear.
- [12] Y. FUJITA, *The unique representation  $d = 4k(k^2 - 1)$  in  $D(4)$ -quadruples  $\{k - 2, k + 2, 4k, d\}$* , Math. Commun. **11** (2006), 69-81.
- [13] B. W. JONES, *A variation of a problem of Davenport and Diophantus*, Quart. J. Math. Oxford Ser.(2) **27**(1976), 349-353.
- [14] B. W. JONES, *A second variation of a problem of Davenport and Diophantus*, *Fibonacci Quart.* **15** (1977), 323-330.
- [15] K. S. KEDLAYA, *Solving constrained Pell equations*, Math. Comp. **67**(1998), 833-842.
- [16] S. P. MOHANTY, A. M. S. RAMASAMY, *The characteristic number of two simultaneous Pell's equations and its applications*, Simon Stevin **59**(1985), 203-214.